Ao xo ol —2<x <2 o, 2x + 1 9] FHAZ2?

@ -3 @1 ® 3 ()5 ®7

2x + 12 x° 2& Hdlal 1& ©ote] d2 oot I8 B= &
7} AXHE 2x 4+ 18t AR
mEbA x =2 o 2x + 1352 Fdo]aL 1 3E2 5 o]t

—2<x<2 => 4<2x<4
= -3<2x+1<5
=) B4 el




OJZAFR-GAl x2 = 2x -8 < 09 N7t a<x<bd W, b— a2 327

@ @ 7 ® 8 @ 9 ® 10

¥ =2x-8<0°A (x—4)(x+2) <0
L-2<x<4
b—a=6




2 —_—
ﬂ%#%u{z”+“ 250

= = 297
20> +x-3<0
1
®_2<XS§ @ -2<x<1
3 1
@_§<XS§ ® 1<x<?2

%

2x2+3x-2<0 ---0f
2x2+x-3<0 ---(h

A (2x-1)(x+2) <0
1
2
ol A (2x +3)(x-1) <0

S =2

IA

X <

L——=—<x<1
3 X

Hehq 25 W9 7o

3< <
2 <x<
2

N | =




T
I

gt

M0 B L

D xy=1z @x+y=z
® x*+y? =27 @ P4y =2z
® Slofl= Agol gt

T P,QR7I 2 ==l 1 =
AB : AC : BColE2 &9 P,Q,RY Yoo HE= g

-—2 —2

[e]
oH =3
Hlo] A Z¢l AB° : AC. : BC o] 9t} 181 AABCE
A7tz golng AB® + AC = BC
wEbA, =5 P,Q, R HolE 22t x, y, 2 StH x+y=¢




xof tigt 54 (a+b)x+a—-2b>02] 3|7F x <14 o, xof st
BS5A (b-3a)x+a+2b>02] =2
D x<-10 @ x<-5 @ x>-5

(a+b)x+a-2b>0°1A (a+b)x>-a+2b---Q
Qo 7t x<10lHa+b<0---©O

el FHE a+bhZE UFH x < _a+2bo]_g
a+b
—a+ 2b
o+ b , —a+2b=a+b
S 2a=b---©

©2 Ol HYdstHa+2a=3a<0..a<0
©2 154 (b-3a)x +a+2b>00°f HASIH
(2a—3a)x+a+4a>0, —ax>-5a .. x>5




@) @
® @

B :l_lf,
®

==

3—x>-1,x<4 0|1
3x-1>2,3x>3, x>10|E=2
1< x<4 o]t




S 3(x—2)>5x+2

Y

2u
2(x+7)<3x+21
& R%ot b 2 A%

g 2 g4e] G2 Fotolet,

sk o FoA 4 &

3x—6 >5x+2, x< —49]1 —2x—14 < 3x + 21,
-35, x>-TO|E® —7<x<—40|th

wFeb F1 e A 7 ol A 2 A
ole},

o

5x >

50|82 —12




Aupsg {2 7 of a7
0.7x+05<02x+1

® -3<x<3 @ x<-3 ® x>3
@7t et ® -3<x<5

-1
X >1

U

x>3

x—1>2
Tx+5<2x+ 10
{5x<5

x>3

x<1

watA sf7t gt

2
0.7x4+0.5<0.2x+1 j_g




9.

xO HMA7E-1, 0, 1, 29 W, oh& 54 F Si7F fle A2?

©2x<—4 @ x+3<4 @ 3x-2<1
@ —x+6>7 ® 2x-3>-1

B

D x<-2
@x<1
®x<1
@ x<-1
®x>1




{4x—a B o o, 4 a o] 2o W

@ a<10 @ a<10 ® a>5

@aSS ® a>3

fr-a<3y x<adx-2)22-1, x25 7 o
a<b




11. BS52 2 -4y -5<0S =H?

@—5<x<5 @ -5<x<0 ® -5<x<l

@ -1<x<5 ® -1<x<6

(1) x>0 o, |x] = xO|E&

x> -4x-5<0, (x=-5)(x+1)<0
-1<x<5

ol wf x>0 FEFHA=0<x<5
(i) x<0<Q o

¥ +4x-5<0, (x+5)(x-1)<0
-5<x<1

ol x< 0 FE HYE -5<x<0
(1), (i)elA -5<x<5




12. xo gt o]xBEA 2 fax+b >0 7t x<1 B x>4 A 0
A a+ b o] 3 Fotofet.

> E.

PHax+b>09 7 x<1 E=x>403H
(x=1)(x-4)>0NA x> -5x+4> 00|22
a=-5b=40 a+b=-1




13.

A W] 2017} x- 1, x, x 18
x9 @ M7t a < x < bt F}[qL 34

o] 3L o
=9 HF29

@1 @2
B

® 3

(x=1)2+x%<(x+1)2
¥ —4dx<0°A 0<x<4
@, 04 2<x<4
La=2,b=4

—:—:2
a 2

oA ax? - 3x+ b =09 F

x—1, x, x+ 12 AP A HolE=

-1>0,x>0,x+1>0,x—-1+x>x+1..
i, £714471 0] Heiw




14. OJAPYAA x2 —dkx+ k2 -1 =09 HE @, pt T W, -1 <a <0<
B <45 WHAZ|= A ko] e Mel=?

@ -1<k<1 @ -1<k<1 ® -1<k<5

f(x) = x* —dkx+ K> -1 ©]2t 5P y=f(z)
f(x)=09Za,p7t

-l<a<0<fB<4ETEFA7IER '\ o B/
)1;}: flx) 8 2 Ze g 2" 2 —1‘[\/ L@

(1) f(-1)>0°lA k* + 4k >0
Lk<-4EEk>0--- O

(ii) f(0)<0NA k2 -1<0
L-l<k<1l---©

(iii) f(4) >0 oA k2 - 16k + 15 > 0
Lk<1E+=k>15--- ©

Q, ©, ©9 ¥5 HAE FotH

O<k<l1




15. #uFPA Y= 24ol= 5 A P(a+1, -3), Q(3, —a+1) ol tisto]
P, Q Atole] A&l o] #4:3ke?

o1 @v ovi @ ® V3

' %

PQ

V(3 a—l +(-a+1+3)2
= V2T -ay

= V2a? —12a+20

= V2(a=3)*+

webd, PQ o] H4ge a =3 L 1, V3 o]t}




16. F 3 A(4, -2), B(3, 5) 25 H &2 A l=yF A9 A PY
ZtEE AoHH?
@ P(-2, -1) @ P(-1, 0) (@)P(o 1)
@ P(1, 2) ® P(2, 3)

q P HEE PO, b) 2 51
PA = \/(0-4)* + (b+2)°= VB> + 4b + 20
PB = \/(0-3)2+ (b-5)°= VB2 — 106 + 34
ol o], PA = PBo|E=R
PA’=PB’
b2 + b + 20 = b? — 10b + 34
14b = 14
b=1
webA] Fake A P o] FHEE P(0, 1)




AABCOlA A(6, 1), B(-1, 2), C(2, 3)°l2t gtrh. o] A2 o o
o] W2 B-& Fotofat,

(1) PA’=PB” & (a-6)2+(b-1)2%=(a+1)2+ (b-2)

PA’=PC" & (a—6)2+(b-1)2 = (a=2)%+(b—3)2 ------ ©
Q,0E 44 st g5t

Ta-b-16=0, 2a-b-6=10

AFst] EHa=2, b=-2

oEhA 2 (2, —2)°lth

(2) PA” = (2-6)2 + (-2-1)2 = 25

~PA=5




18.

S 139l AABCOA AB = 6, BC = 8,
AC — 40|12, BC o] 8ol M o, AM’
o] ge F5tofat,

cCh "
| — Y

>
> ®eh: 10

F442] elste
AB? + AC? — 2(ARE 4+ B olm2
62 + 42 = 2(AM + 42)

36+ 16 = 2AM- + 32
S AM =10




. FAEEY 9o vl H A(1,2), P(0,b), Q(a,0), B(5,1) ol thste] AP +

PQ+ QB A%:2k8 keh @ ), 42 9] g2 Fofed e,

=
| — ]

vV V¥

e 45

B

A (1,2) 2 yZof tiste] thA el HL A/(-1,2
xZo] tisted A Ql H-& B/(5,-1) ol2t 5
AP+PQ+QB=AP+PQ+QB

>AB = \/6+1)2+(-1-2)2 = V45
webA k= VA5 o] B2 k2 =45

). A B(5.1) 9




20.

2 11 A|7] A o}gtd]ote] 4akdllof 1} @ = 88 W &3 Ao},

4 Apololl £ % 150 b7k A s = el solis
242} 20m , 30m ] Lp Aol 2] A2k s0m o]k, Zkzte] 7
ef7]o] A7k grobAl e S & oele] B171E w27 919)

o] . ukele] A7} FAlol Wobd] A4 912 1 BaslolA FuiEol
Ego] 1 21717k gl 49 FEstedet. T ojelo] o] £t
2ok S1S 1, 017t 20m Q1 T WelA BI17AA 9] Al
% m 917 Foofet,

> E:

(=

> & 30m

~&B

20m, 30m Y 919 F uiel o] Aje] Y2 E 247 A, B & 5t
A, =0]7} 20m 91 YF 2o gRE BNV} e P 74| 9
AgE a 2 51 PA = PB °|E& 42 4 202 = (50 — a)? + 302

o a=30(m)




